e T AEY LR B i) )
(g.ml) (g.ml)
1 ARt LA CHE L EEEPY 125 25
2 X} Cl2t3d Hpapst ¢stx o AEA 150 30
3 B4R} cl2t3g £E3% fste O ASA 150 30
4 apx EER]] U A 45 45
5 xt WHE| & HE 2E B C o AgY 100 25
6 atxt 20y 2y E Hazsy 20 30
7 ARt 20y 2tAH|Z|Et2E L EEL 2 135 45
8 xt H| A7} HlL$ HERT| L ES 2o 454 30
9 atxt H| A7t gL 3 27| W ES=2° 908 30
10 Xt JU-X]| T EELPY 84 42
11 fr1oNy AQEMEL| SS15B T}l @ E (Mt 2t8H MStAmHH 0| M 30 30
12 apx AQIEMEL| SS20S TH|T|0f H3pamy oM 30 30
13 fr1oNy OtZ £ 317|(150g) SAYZRA X20IS 150 100
14 apxt S=xtaLtFt HoAME 330 33
15 xt ghstatst HIME 330 33
16 Azt LA LLFL HoAMZ 330 33
17 axt SE % EL b 85 85
18 atxt /71 B2t flolH SEUSY 100 34
19 ARt |71 dhatst Yoy SEWEY 100 34
20 xt |7ls £33 go|H ZEUEY 100 34
21 atxt f71537] HHH HME % 24
22 apxt HE=XB LT} HoAz 132 33
23 atxt HESKZLFL HIME 198 33
24 rioN HEWSBLEFL HRAME 132 33
25 axt HEUSBLEFL HIME 198 33
26 pxt HETRDLITL HRAME 132 33
27 xt HEFYERLIL HME 198 33

1H O x|




ws NEER HEY BoR/Hze ss2 e
(g,ml) (g,ml)
28 Azt xzay 327 HMslamy o] M 125 25
29 xt 7ta| 7t Hatamz o] M 65 33
30 fr1oNy stme|3 ol (2719 AR 92 27.6
31 Xt Fr=a|3 o|L (HpLatah) a2 SA 92 27.6
32 xt oo E 23 (HHEatsh Hstamo| M 60 30
33 atxt HUE2 nasig M H O H UM 2 255 85
34 Xt St QF= azEA 150 30
35 a4zt 3l0| EFfZ HE{RF| 1259 LIRS TR 125 25
36 Y- ZHotarEHY CEEE] 238 238
37 AMSE Zotrd 2y HolME 180 180
38 AMSE ZotMg g gaot HojAE 238 238
39 SR IHAE opH ol AbatEtiH SHEiS = 500 500
40 e R aapy AbapEA azEA 200 200
41 ISR aztL] oRlfESE HIzEY 200 200
42 ISR BASIHH SHEYSMUEIISSE 180 180
43 R BASOHA SHEHESUE7ISIE 1500 200
44 AMSE BUEHY SHsHSMUHEISSE 240 240
45 ISR BAEH] SHEYSMUENSIE 1500 200
46 ISR BASSEX} SHSESMUHESSE 180 180
47 ISR BASEEXL SHEYSMUENSSE 1500 200
48 aAez BAsES0} SHsHEMENSTY 1500 200
49 ISR BAENFHZ SHsESLUHEISSE 1500 200
50 ISR Y Foir| L EE1-1-) 180 180
51 INSE sy Sz rAss35d 340 340
52 Y- L EEY ] MojAE 240 240
53 ISR CHEH Atap HUME 190 190
54 e "WERE otg A= ROEMEER 180 180
55 MER HEE 20jo|= ROEMER 240 240
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HEZ

5%
(g,ml)

oY /M| =3

360

13|

(g,ml)

3

360

ROEEs=E

RHEYSE

240

180

240

56

IMEE

zouyse

180

57

ISR

RHEYSE

200

58

ript I=1-3

ROEYSE

200

180

59

IMEE

ROEEs=E

180

350

350

60

ISR

i
=

| 2 E H| 2] &4l 2|

RHEYSE

180

61 ISR

A2 EH|2| &2

ROEds=E

180

180

62

MEEATIA Q|

RHEYSE

180

180

63

HAEREZX|L0H

RHEYSE

180

500

200

64

20 227

200

65 SE

ROMFZE

1500

190

66 ISR

OHFz2

190

190

67 iy =33

2|0|E At

1t

190

180 180

68 ISR

240 240

69 ISR

240

70 ISR

240

180

71 WS E

g

1340

180

180 180

72 MSE

RHEYSE

190 190

73 ISR

o4

RoE

-3

Iy

300

74 SR

oy

2

IS

300

300

75 ISR

oj%njo|=

2|X| SHE Ant&I (2|

FEASER/®

&t

288

300

200

76 ez

OAHO|E 2|X] EHE Z=&OFALO|H|E]

AIIEESE®

200

175 175

77 SE

|AmolE E2n|Eylo|C|

keSS E

200

78 iy E=3-1

OjRmjo|= =2|0|Y fjHF2{x

1500

180

79 MSE

OjAHolE =Z2[0jY 2HX| C

180

180

80

gy P

ojYmioje =2|0|Y MFHE E2{>

180

175

175

81

IMEE

OjA{Ho|E Z2|0|Y E0LE

82 Ty

2=

Oj{oolE =2|0|Y EOLE S22

83 >

MSE

3H 0| X
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84 Y- 0|YH0|E =a|0|Y EO0LE S3A astzeR 350 350
85 aea O|A 0| = Z2|0|Y ZE Ca EE/E-CIEY-) 1500 200
86 Y- O|AHI0| = 4] 2aX| astzeleR 175 175
87 SR O|AHo| = Z&|4] 2aX| astzeleR 240 240
88 EE O HolE &4 K| aAjlEeteE 250 250
89 ER 00| E Z&4] XS F7tEatgR 240 240
90 s oW O0| = Z4{YA Abat-2|X| /1Y) 175 175
91 Mg OjAHOIE T+ A Arat-2|X] IFjtEetsR 240 240
92 IS E 0| Ho|E Fafl+ 22 Abat-2|X| AIEESE 350 350
93 E= O Mo|E S HUA UK X}S AFLEEER 350 350
94 R e HIME 180 180
95 s 22 Qx| CEEE] 180 180
96 e R Ul Aba} k| 200 200
97 }YSE ApDpLtE PEX-Y-] 150 150
98 HER M2 aod =8| |2} 150 150
99 Az A0| x| HAZ 190 190
100 bS] AZFEA AL} HAZ 125 125
101 Y- AZZA QX HAZ 125 125
102 SR MR ELE ROEMER 180 180
103 AeE MR S e3P 240 240
104 I LR EX EREE 238 238
105 e MEE T HAE 190 190
106 Y- M Apat [ETE=X] 190 190
107 s M Qx| =TE=X] 190 190
108 E= HAE K HFLE e 230 230
109 N E=3-1 MK HFL2 g 950 230
110 s HI|AE ool CEEE] 350 350
111 Y- MI|AE Y 2ojo|= e 240 240
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112 I HI|AE Y 2ojo|= CEEE] 350 350
113 A M| AE AQE|0fO|E CEEE] 240 240
114 IR MI|AE AQE|0O|E CEEE] 350 350
115 I MI|AE XH20)0|= CEEE] 350 350
116 2y Y-S HI|AE HB|ojo|= CEEE] 240 240
117 I MI|AE H2|ojo|= CEEE] 350 350
118 I MF| AT () CEEE] 180 180
119 2 Y-S MF| AELD(ZH) CEEE] 180 180
120 ISR YROMF QroHet Ato| 500 200
121 PN ofjo|Elof= E=4-1-1] 200 200
122 I QIX|LtR PEX-Y-] 150 150
123 I x| ZEISEH| =4 290 290
124 A A ZE M| s 290 290
125 I Xt2sxt HYAE 180 180
126 ISR e SE2x} HAE 190 190
127 I XS 196U ME 23ME 180 180
128 SR A2 210 HFEHE SUAE 180 180
129 ISR xtele 210 XFELE gxiME 340 340
130 n SV E=X-3 A2 90Y EOLE SHUME 500 250
131 2 Y-S e c-3 ME SrME 185 185
132 e e =23 x5 SFAME 185 185
133 SR e -3 MFEAE SHUME 185 185
134 I E=)] el 2120 2212 SHME 180 180
135 ISR XHAL120Y E2H|2| SHME 1500 200
136 aes XE270¢ %D STUME 1500 200
137 ISR Xt 2 Attt xS HIO| S BB & SXME 350 350
138 IHSE Xt exSatE F 20| R E A SHME 350 350
139 IR XpQd 0| QrAbT AOAE 180 180
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140 EEE] HFYE E PEEEE] 180 180
141 8= MR zomyss 500 200
142 gz HFY BT HyuE 180 180
143 e AL BSY HeuE 500 200
144 g MR BT T 175 175
145 aez HHOj Al () sEfS 180 180
146 aez HHO§ & (2H) sEje = 180 180
147 Sz XEOfA SHUME 180 180
148 I X2y srNE 500 250
149 ISR ED HOIAE 180 180
150 S E Fr=a| 277|199 s 200 200
151 Sz Ft=2|M Atapot (] 200 200
152 ISR FHZ 2|4 At 4 200 200
153 ez FhmaM QX o @ 200 200
154 SR Ft=g|M XLk s 200 200
155 ISz t=a|d Y2 Y3 =M 200 200
156 HSE IIAZ fE Atnt SHEiS &2 240 240
157 S= IIAF I SHEfS & 238 238
158 MNSE IAI[E XT3 F50} SHEfS = 240 240
159 ISR IAIERT RHAESE 238 238
160 EEE gE=nFAE E PEPEE] 235 235
161 EEE s=FuE zomyss 950 200
162 Sz 2 HIX| IAEets=w 175 175
163 MSE 22 2#Ix| IAFIECSE 300 300
164 MSE I EE IAJEetSE 300 300
165 e YFIAAEAT izt 150 150
166 PV EnlE 2 sEle = 180 180
167 S=E ElEsE HAME 500 500
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168 I ERI|FIL} T7|ahE| 2HAMSE® 240 240
169 A EzmFtazg RoHMdeE 200 200
170 IR ERO|FHE 7| at ZHuAdgs 350 350
171 I ERh|FHtEEat ZHEMeE 240 240
172 SR EZu|7ILE Eat ROEYSE 350 350
173 I ERO|FILN 2| EOEEK| ZouAdes 240 240
174 ez E 2|7 2| E0tEEX] RHEESE 350 350
175 P EY-) ERNIIIEQAE MR L 250} ZHEMdeE 240 240
176 ISR ERNFIHEQAEUTE 550} ZRoHMdgE 350 350
177 IMeE ERNFHIEAE QUX| T7MM 2| L3RS 240 240
178 I ERTOFILIEQAE QK| 1Hu 2] EX EREE 350 350
179 ez EZOFIUHER= RHEHESE 200 200
180 AMSE oI E % HANE 340 340
181 P VY- ZcEE CEEY 240 240
182 e ZEANZ GAESEACAS LIRS E [TE] 240 240
183 R SHEoj & SUME 1000 200
184 AeE SEEC S CEEE] 238 238
185 IMe EEZA At Eiiﬁl@/ 240 240
186 I EZA uX| gii:;l@/ 240 240
187 2 Y-S EEA EE giz};f/ 240 240
188 Pl BY 2 o &HLiLt Fla L | 170 170
189 Yag CECE(R+X) MFE 130 130
190 P Y- C{ SO S (Ab+E] ME 130 130
191 was HEHE(Q+E) YES 130 130
192 Pl -1 ECEEE 2 g| 140 140
193 Pl e apag| 130 130
194 i/ -1 cgmg 2t | 140 140
195 i 1= o|2{Ht apug| 140 140
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Hs MEqd HEZ ol 2/H =

(g,ml) (g,ml)
196 Wz Y3284 500 MFE 130 130
197 HiatE ik [ FTEN Pk 280 280
198 = HISLAICH EXc ) 140 140
199 Yag M Lb=dp M 85 85
200 Yag My dfEFEX RO X 1t 150 150
201 waz EST EESa] MFE 130 130
202 Pl = ofeimtol apea| 80 80
203 = A2 £028HZ*130ml MES&D 130 130
204 Wtz A S 40| ALt EHZE*130ml AEHS&D 130 130
205 Yag A3 =88 712l 140 140
206 i g I2UACIGE HE] 140 140
207 waE }gs ME 140 140
208 Yag s 2ol X1t 250 250
209 YaF 2Yx33 RoldZ 250 250
210 = LN Metat 100 100
211 2 7| Ot CEH|A HE] 80 80
212 [ M EELIPY HE! 135 68
213 K2 H2mEA 71 25 25
214 (= 2gnece#o|3 o A2H 100 100
215 2 EA Mergat 90 90
216 = e TE] ol AN 100 100
217 e BIFAALS) 37 SA X201 400 70
218 s 2HAIA(2%) A EZ A X502 550 70
219 = I QABE) 3| SeA X201 680 70
220 uE 0L sAxHE 2 H 2| T2 E#013 [y ES= 2 100 100
221 = oL 27t EAH 0|3 of AN 100 100
222 e ojUZaXxnc#o|a o AN 100 100
223 [ Hatel| NE: 20 90
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(g,ml) (g,ml)
224 e 222 HE [AER 165 165
225 e AWEH A 7|2 85 85
226 e A2y HAER] 712l 75 75
227 e AFQIHHE{ 7|2 Mapgat 600 70
228 wa Hom MEAE 150 75
229 e CELL JUERE 210 70
230 wa ot2CmE ofj A 2tH 140 140
231 = of2CEAMA FE! 75 75
232 (3= Hx|Tolof S H T AAER 165 165
233 = 2209}E} HSRHH 0| M 82 82
234 s Se|Uots st Ee2 25012 100 100
235 ws f2|UxA7tAHzE S EY 2 22012 80 70
236 e £2)0t2EDE 713 160 80
237 W x£3AH A1) AL EH 2 22012 400 70
238 s £3AA A=) st Ee 2 22012 550 70
239 ws Z3HHABE) SAZEZH L X802 680 70
240 = EES[UE | [AAER 165 165
241 e X| =T}E| Qlotu| 220 70
242 e x| =1 x} PEME 190 190
243 = EET QlouH| 70 70
244 wa SEo2E() GELEE A 400 80
245 oojA3 R 12%Hp a2 2| 150 150
246 oto|A3YF 50| 2o4z 20 90
247 ofo|A3AUR 23 2oaz 92 92
248 ofo|A3 AR ao|A B 2d|x 3 9500 100
249 ofojA3YUR Ty E= YT X =AY Y k| 110 110
250 oojA3 R E=E R ELTES k| 90 20
251 oojA3 YR TBYZE Ol2E Qo AL Pl L 474 100
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252 oojA3YUR Ty = e Hate ka3 k| 474 100
253 oojA3 R Bz oama 2 P! 90 20
254 Ofo| 23R BY 2 M3 (BL7h Pl | 150 150
255 oto|23AUR BYE2 J3|AD MEQX| ASa W AERH|Z Pk 100 100
256 oto|A3 R By cE E3E ZH[Y oM AL 90 20
257 oojA3YUR TYz2E ot2E k| 150 150
258 EEEE] Y2 oazya FlaL| 150 150
259 ofo|A3 R BYc2E W3 Pk 150 150
260 ofojA3 AR EXUI XS Zd|xat 90 90
261 oojA3 R ERLT| AR E*80ml MES&D 80 80
262 oojA3YUR CHE7HSHPF70mI MES&D 70 70
263 opojAaZF SEESIFEESAUUNL@74mI) AR A X802 474 118
264 ofo|A3F EREEES-LL EL i 20 90
265 oto|A3 R g7\t qol ore 2t g| 80 80
266 oojA3 YR B AE RF|ME 2haZ 20 90
267 B 2tEm X3 2| 305 305
268 oojA3 R 2K e2c 2t g| 108 108
269 TVEEEES BIEADY 2|H| 2 100 100
270 ofojAI R 9137121821000 YES 150 150
271 oojA3 YR HELpLEOg) apg| 80 80
272 ofojA3 YR HILPLIA Z 317 2|x 3 100 100
273 oto|A3-F HHE 2t&OL2 E 1t EL i 90 90
274 oto|A3YF Hidetxay gakg 2o|x 2t 9500.0 100
275 EEEE] Hpeap 2d|x| 3 100 100
276 oojA3 YR H=l 2121000 JUES 150 150
277 [VESEEES =™ate I WHED 712 1000 100
278 Oo| 23R 2HetE B WHLLLXAD 7121 1000 100
279 ofo|A3 YR =x™ate I MAAD FE! 1000 100
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280 oojA3YUR AragTHEIE 2t | 155 155
281 oto|23YR MAFQI I ZIONZ A 2 b 2d|x 3 9500.0 100.0
282 ofo|A3 AR OfAbE apug| 190.0 190.0
283 ofo|2aYUR olHZEE £3TE 2|x 2 9,500 100.0
284 ofojA3F Ax Pl 85 85.0
285 [VEEEES AlE (HE|) a3 510.0 85.0
286 oto|23YR Q= 7}m|a| 2d|x 3 140.0 140.0
287 ofojA3 YR ap2Eg=alH} 2d|x 3t 90.0 90.0
288 [EEEES ep2Es 2t 150.0 150.0
289 oto|A~33F HRUI XS} EL i 90 90
290 ofo|A3AUR ol ™o|u} 712 85.0 85.0
291 ofo|A3AUR XHH &7} b 2 2d|x| 3 170.0 170.0
292 ofojA3 YR =3y g8 2d|x 3 9500.0 100.0
293 oto|2aYs o X AOL2 S H} Z2g|x 90 20
294 ofojA3 YR et apug| 150 150
295 oto|2aYUR TS ME 150 150
296 MR Z20|YLATZER apa) 150 150
297 [VESEEES =3k o amaA k| 20 90
298 ofojAI R CEEL b= 2d|x 3 170 170
299 ofo|AaRF BELG"‘:ui::S;OLATE szict= 100 100
300 oto|23 AR CAPPUCCINO TRUFFLE (Minicup) s7ICH= 100 100
301 oojA3 R CAPPUCINO TRUFFLE (Pint) st7CEx 473 100
302 ofo|A3AUR CARAMEL CREAM CRISP s7CE= 66 66
303 oto|23AUR CHOCOLATE (Minicup) sH7ICEE 100 100
304 oto|A3 R CHOCOLATE (Pint) st7CEE 473 100
305 ofojA3YUR COFFEE (Minicup) b [ ES 100 100
306 oojA3 R COFFEE (Pint) LR [HES 473 100
307 ofo|A3 R COFFEE ALMOND CRUNCH BARS spzCHE 20 20
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aa8 28227 LT 145.0 145.0
449 21000 @isaEC 120.0 120.0
450 E4) 3 E17|HAH 1500 MAHO|A|A 150.0 150.0
451 Zu1) EHH 7 1000 WAHO[A|A 130.0 130.0
452 e [ESES ] =3 = 120.0 120.0
453 2E X288l £3z|o} 672 14
asa 8 AL o A2 EH|E qAEA 100 2
as5 QzEY 9|5 CtA%EY sEusy 100 35
456 Zeie o3 x84 Hetmmalo| 85 28
457 Ze|Qr 7] Mmool M 55 28
458 Ze|Qt 7| Hstamz oM 210 28
459 uelgt s Ea|Y Hetmmao| %0 a5
460 Zaie g2 EaL T EETTY 180 a5
461 Zaet W =% Hetmmao| 210 28
462 Lo W=y setmmo| 55 28
463 LE|GHESAEBA(R) 2w 38 23
464 ZalgEg A BAG) P as 23
465 ZB|AEQAERMA I ZE 20|~ ot 135 23
466 ZalgEgAsUASE 0| 2o/t 203 23
467 ZE|AEQAEMAX|H 24| 1t 97 23
468 g3 e 2 Mstam 0| M 37 37
469 3 2 8 Mmool M 200 25
470 3 2 8 Hstamz oM 10000 25
471 Cta AAEz} THQl HatamHa 0| M 100 25
472 Ct3xE8158%*40g MEs&D 40 40
473 Ct3 %X ZE38158%mini*40g AMSs&D 40 20
474 Ct3x&E8170%*40g AES&D 40 40
475 23 A& ojy [ EEE =2 63 31
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476 £3 1Rk EHE N EEE2Y 250 25
477 53 ojL =2 DE|Aof L EELSY 200 50
478 £3E EZQ EYE U EERSY 200 50
479 AL DI OEA ME a2 SA 250 50
480 Cl2AH C}a X222 o AEA 100 25
481 C|2AH| AEapX|opdat x28l [ ES-Y] 95 24
482 waxas Wl C 4o AE| 1000 50
483 2t Op7|ops opRE XEE L ES-—2-4 4000 40
484 2te4] FORX| R X2 L ES 2 40 40
485 2t24| ojot ol X=EH o AgY 40 40
486 2124 ofop7tE A28l oA 40 40
487 2e4 ARotEs £33 LES-—E 40 40
488 EIEE=EIIT MstAmy oM 90 45
489 2tE2Ea|ut Hstamgold 180 45
490 23 ojgtmcAx S8l L EERSY 42 42
491 23 nj2H of2t2E xF3! [ EEE=FY] 42 42
492 2 xZapmo o AEA 150 30
493 2| Rz EA 45 45
494 25 o{RE|E MR o] M 200 25
495 2 E ORE|E MslAmy o] M 350 25
496 2L ORE|E HMspamyo|M 500 25
497 AECa N HRHH 0| M 40 20
498 RAECA N HslAmY o] M 125 25
499 FER-ERYI HSAH 0| M 40 20
500 RE U3 N HMstAmy o] M 125 25
501 [EIEDET] E|C|oj = A a|o} 46 46
502 op7ictojotH E £ 23 -E0| Y Hstamy o] 21 21
503 HZ J2AEH Hazsa 150 50
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(g,ml) (g,ml)
504 HE 22 AEH SIE EEEPY 150 50
505 HE|F|A AERH|E E|C|oj =3 2|0} 60 30
506 BE|LI7} ChA U3 X33 azEA 45 45
507 B2|Lt7t ChA HIE| £33 EEEPY 45 45
508 B2|Lt7t ChA $1O|E 38 T EELSY 45 45
509 N TERE -1 ] EEESY 55 55
510 22|L}7} H|E| X223 azEA 55 55
511 DE|L7 X3 AERZH|7 L EER-SY 26 26
512 oL 2EY aH T WO AE] 1000 100
513 OjL|A IA-3HAFAE|Of e ES 41 41
514 OlL|& 2jA-@|g)o| DELIO|E EEUES 49 a1
515 oL A YA-EAA s2opx 70 30
516 FERL Hsamy o] M 37 37
517 FER Hslamy oM 50 25
518 FER L Hsamy o] M 200 25
519 EERCL ) Mtz meyo|M 250 25
520 A3 A £ Hsamy oM 350 25
521 FERC HMslam 0| M 500 25
522 U3 2 =2 H&tAHH 0| M 142000 25
523 U3 AAER GOl Hsamy o] M 100 25
524 B Hpdat 33| Am| O AEA 100 25
525 EEES-T E|C|of =3 2|of 42 21
526 Mato|A 37| O AEA 210 30
527 AE 9. 22X Ftaw x2a A= EA 125 25
528 AE 9.9 FRRIWEA xFa L EELSY 125 25
529 of2C AZ3l 9A O AEA 4000 40
530 o=z x=3l E|C|oj == 2|o} 48 48
531 AMHA Ch3 M AEHY 0| M 100 25
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s AEY LY BT ) Sl
(g,ml) (g,ml)
532 AMBA 3 QUX| QlElA HM3lAAm o] M 125 25
533 AMBA C}3 Ao QsIA A3} may oM 125 25
534 AMHA HAEZ 2|0 UFXF3! M3t m oM 100 25
535 olo|EuUjol2EXE Ha2H = 4 of| AE| 77 39
536 BpFI| XL Wl = 4o AE| 50 50
537 LS e PYE WK = 4o AE| 50 50
538 A3 3a|Aq| o AEA 100 25
539 %3z} WaH = 4 of| AE] 1000 50
540 ZE3 o|EH Y& L ES 2 4,000 40
541 A Z22IH} B{2}0|0{E| -3 AF|E|Of st20px 181.2 60.4
542 X226} B{2}0|0{E| T-LF[Y 0| stROLx 348.6 58.1
543 A Z2IH} H{2}0|0{E| H-EYA e ES 453.6 56.7
544 ol MstAmy oM 226 100
545 o MR T o] M 680 100
546 3 H&tam 0| M 1360 100
547 o MR 0| M 2500 100
548 2R o AE A 125 25
549 HEEIEI ) MR o] M 38 38
550 FtEX| - 38| AT o AEA 100 25
551 330t EHE 3X|E 200g ARREAR 200 30
552 EEHIELU) HstAmold 48 24
553 33 £83 ol2E O AEA 4000 40
554 ElAR 3l0|E 223! iia_,;z/ 200 25
555 EEE 3 ol BEM 100 25
556 EEE Y3(3to|E,Ct3) AHio| BEM 100 25
557 ESE AQA I3 283 BEM 100 25
558 EEE AQA U3 X823 ®sM 100 25
559 ESE A9QA 30|E x83 ®EM 100 25
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560 E3-CE ELE 3o|E Ho|Y BEM 100 25
561 23R EBZ Z3X| JAE|E Q| A0} O} O AEA 250 50
562 ES-TE ERZ T FEX| O ASA 250 50
563 E-C- EgiA LA sh2op= 900 30
564 E3-TUE E2QIA O[L|A 10G*53 (50G) (56*1) st20px 50 30
565 E3-CUE E2IA O|L|A 560G (14*1) e ES 560 30
566 E3-LES Eg/A O|L|A 900G (14*1) st2opx 900 30
567 xg38 o] 0| Hstamyo]M 73 24
568 xga12 WAl ERE 22X azsA 200 50
569 E-L S A EME Hu|E HazsA 200 50
570 - H 5 ofjEE x&3 E|C|ol =2 2|o} 52 52
571 ES-L DK EBZ 2AE|E IO} HIA o AEA 80 40
572 xg38 ZHX| EFT E] TAA o AE A 80 40
573 - ZHX| EE= H Huw L Bt 80 40
574 ES-UE oY= Hstamo]M 226 100
575 =E3R/ oj3x Hspama o] M 680 100
576 E-TUE P ES HstAmy o] M 1360 100
577 xga8 B ESE H2H = 4o AE| 1000 100
578 23R S 32X X3 @A 0| 70 28
579 ES-CU 3l0|E Az & H&taE 0| M 14200 25
580 E3=L 3}0|E X Z3l oj2E G| AEA 4000 40
581 X233/ 3l0|E X3 F0IER ol ASA 4000 40
582 xXE3F Etali chocolate wafer stick @ M OpAE} 24 24
583 )8 3X0H Ao M X o] M 12 12
584 o7 d23AE HRAME 300 1
585 [LI=E AH\m SEALR HRAME 100 14
586 1= B A m| ki) SOHH| 1t 130 16
587 o7 A\ m| Sk SOtH| 1t 390 16
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(g,ml) (g,ml)
644 c|s LU I 250 250
645 FI= = 13- 1] 3 250 250
646 M| H L 3L I 250 250
647 M= EF EE =373 250 250
648 M| F FE ZEX0lA S 250 250
£33
649 | H saxgana F 250 250
650 Hrlg SEHREEH} R3] HIEL-2 BT CEL 9.6 9.6
651 g SEHLEEH} 23| HIEL-2 20 CL-TEE 9.6 9.6
652 Hrlg SEHpEH} £ 3| HEFAE CERE 16 8
653 Hr|g 20| = HlojHx HUE oML VEERSY 177 15
654 g BHO|Z Hl0|Hx HAME otUE H|2|3 L] VEEESY 177 15
655 Welg Bto|= 4l0|=x HME HEDE WL UEERFY 177 16
656 g EELEEC HoME 100 10
657 ez EELL 2o 2|1t 10 10
658 FI=E} op= =opH| T} 420 12
659 M|z OjQel AL|A Fm L] A= EA 150 9
660 LI ofget A4|3A FHEX| 70| 3254 120 9
661 | H atxtor=7127% jazs4 150 50
662 FLI= = Pn k-1~ CiHale & 120 120
663 M| H P lanE=4- T I 160 160
664 ME|R Anzcigol =43 160 160
665 Wr|g LESLTES W WO AE| 12 12
666 g miC|7] =(120) A S A x20IS 12 10
667 fLL=E HEA A SLI0|E|E AlZ 37.5 11
668 = HEA AU S{LIOIE|IE AME 112.5 11
669 HI=E] WEA TS @sto| 30 8
670 |z HMEA RO SUFHAE Y2 SLIOJE|E AE 42 1
671 g WEA £ SX|O4S 2hxbz|%t SUOIEIE 4F 42 1
24| 0| X|




s AEY LY BT ) Sl
(g,ml) (g,ml)
672 EA @) SL}0JE|E AlZ 37.5 11
673 L=k IEA 27| SLIO|E|E AlZ 112.5 11
674 Moz HEA QB SUOlEIE MF 375 1
675 L HEA HOEQ SLI0|E|E AZ 1125 11
676 HolF HEA gATZ0|=Z SLIO|E|E AZ 120 11
677 M| HEA HiS} SLIOE|E AMZ 375 11
678 L=k HEA 85} SLIOJE|E AZ 112.5 11
679 HC|g IEA ARC| HIE SLIO|E|E AME 120 11
680 Mo QTPEEHE SLI0|E|E AlZ 120 11
681 LIS EAEIX SL0E|E AZ 35 10
682 FLIE HEA ZE SLI0E|E AMZ 375 11
683 MO F EARE SLIOE|E AlZ 112.5 11
684 HolF EAZEQ @sto| 30 8
685 WMo F 22 A EZ 2 Y& SUOIEIE AMF 42 1
686 Moz E2{2 EROE 92 SUOlEIE MF 42 1
687 WMo 7 dzed SUOIEIE AF 810 1
688 o7 2o dist SLUO|E|E MF 891 1
689 Mo 7 42w g SUO|EIE AF 810 11
690 Mo 7 a4 SarE SUOIEIE AF 37.5 1
691 Moz HEA XS SLO|EIE AF 375 1
692 HolF wexd Ct2atgs 120 120
693 o7 Za|Ltzt 2ty U EET=22 29 29
694 Holg C| 9y AH)2| 24l HEF) 38 7.6
695 o7 o] E3 RO 3 228 76
696 Mg =7HC| 0}0] A QI E(CASE) EXc) 38 7.6
697 HolF ol ASUE 2ol 1t 38 7.6
698 o7 Mol 5= RO 3 38 7.6
699 Mg 7Hc| 3B EXc) 114 7.6
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(g,ml) (g,ml)
700 27HC| 222 182 7.6
701 MHC|E 2|3 182 76
702 LIS OUY 28 9T 2E oflo[X| ¥ E 10 10
703 HL|F ojLHEA MNZ 300 10
704 o7 OjLHEA ME 310 10
705 M| ojLsEA ME 1000 10
706 LI OLHEA AEZIO|Z NE 150 10
707 7|y OjUHEA ERT|HUA Mz 150 10
708 Mol F oL HEA E5tatd ME 150 10
709 MLl F OLHEA S2ET NE 150 10
710 ML) 5 OfL| s AbE 200 8
711 MO F oL Z g7 18 18
712 LR ojLF Ssor 18 18
713 o7 ojL|zH ZHE|200 (F)F2loolx| K| 0] 360 9
714 o7 oj7|et HFEH) 12 12
715 MHC|8 DIEGH 7ML E|C|ojl = A a|o} 200 20
716 MC|{ HiLpLtR S8 80 8
717 L [= Hjo| 22 Fat 300 12
718 Hr|F HHo| 2 {3} 100 12
719 LIS o] 2 8.1} 120 12
720 |2 o] 8.1 390 12
721 MC|B o] .81} 950 12
722 FLI =S Hto| 2 g1} 1600 12
723 L Ho| R E3t 120 12
724 Mg Hio| 2 E3t 390 12
725 M|z Hio| 2 £t 900 12
726 MLl F Hio| 2 E3t 1000 12
727 ML) 5 Hio| 2 Z8t7fat 100 12
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s AEY LY BT ) Sl
(g,ml) (g,ml)
784 CL B HRAME 500 12
785 o7 A2 ROz 72 8
786 Moz ARIE Atatet gloj2]&Ab 11 11
787 o7 MY ZEE gloj2lda 1 1
788 o7 Mloj2 £&X|ZHE AAAoloE 1900 10
789 Mo 7 Moj2 EStatEic] AA|Ao|otE 1900 10
790 L=k Mol #Hm|7HC| AAM|A o|OtE 1900 10
791 Moz 9z HRAME 150 10
792 L= AQIEFEX SOofx|at 420 12
793 HolF 2AFHK] MI7EXISE RH[H 2t 417 8.7
794 Mg 27X 7ML E|C|ol = A a|o} 175 18
795 MO F AFHX| Al EXcb Y 417 8.7
796 (= AFHXMIZLR] EXch Y 126 8.7
797 WMo F 2FHX|ZHC] MI7HX 5¢ RO 361 87
798 Moz AFHX|7HL] Al 2diH ke 361 8.7
799 HOF AFHX|HT| EXcb iy 126 8.7
800 L= E AEEA HRME 450 11
801 Mo 7 AE gl.e2|X|g 0|2y Hazsa 100 20
802 (Li=k AE 9|.22|X|ZCH/7HC] 1Kg*6 3254 1000 10
803 Holg 2Y3 HY g2 ol AEA 295 13
804 o7 AWI e HEMCO| A2 o Asd 170 14
805 o7 MBS RO H 3 26 13
806 Mg AlH|O}4 33| & _CASE 20| a3t 12 1.75
807 o7 Wz FHAE 20 20
808 o7 op7|3EE2 HF ELK(QT2ED ®'HUF&B 9 9
809 M7 ool & 2to| 2| at 10 10
810 L= E OIFEM 8 Atabg HH 13 13
811 Mg olEMR ZE 3t M3 13 13
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s AEY LY BT ) Sl
(g,ml) (g,ml)
812 OFZHX|(E71E) SASHF) 20 20
813 o7 OFZX| (K| E) SUEMNEF) 20 20
814 LIS OfA|(=2E) SUSHEF) 20 20
815 o7 Ot X| (22 SUSHEF) 20 20
816 LIS ofsHM -3 25+ CI=EE | 24 7.2
817 Hol& Y20 =KL HRAME 140 9
818 |8 UHIEZA HRME 990 11
819 Holg YIES W E Mo AE] 16 16
820 HolF OfRZIZA23 0| nATHAHRMIITAC] SOH| 1t 50 10
821 o7 OFRTIH2Z0|Z 1A 2 7HatHiL| SOHH| 1t 120 10
822 Mo 7 OFRTIH2F0|Z nasH 2 7tatHL| SOtH| 1t 320 10
823 HolF oflLx| #3z|of 5 5
824 (= ete [EEE=Y 150 50
825 LI uLoe Y2 e az s 280 40
826 HolF U0 Q% YA EESY 280 40
827 |7 enLoje7 efatet Az EA 280 40
828 LIS eunLoa% 22 8% HazsA 280 40
829 M| Qx| Ze Ctealg s 120 120
830 HolF LFFEX UMY M@ o|M 150 12
831 LIS el ALet MslAmy o] M 130 7.2
832 Mo RN E-TE P Hepama o] M 160 9.4
833 HolF F A Mtz ol 130 7.2
834 Mg QABAZALE H&tam 0| M 130 7.2
835 L=k QABISALEH Hspamy o] M 150 7.1
836 o7 QAO|EH LI LALE 2oad 200 10
837 M7 Qto|E M0 FE K| L] 2oad 350 10
838 o7 QAo|EH M0 E HI0| TS Rol&d 350 12
839 Mg Qto|SaMo|2 AZEQ T} 2had 300 12
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s AEy LY BT ) Sl
(g,ml) (g,ml)
840 Qlo|SaINjo| & SHto 204 350 12
841 Mo|F QLo|ZAj0| = ZA7HC 204 400 10
842 ML) 8 HWATEQT} 24T 300 12
843 HL|F Qto|EH S 2oad 1000 12
844 LI Qto|ZH Z AL 204 500 10
845 L=k oS S AR RH4T 490 10
846 |7 ZAae HME 550 14
847 L= E 2714 97| M HO| K| L X 250 250
848 Mol F a7y Uz M o] H| X 250 250
849 Me|{ 274 g50} Mol H LH T 115 115
850 HC|f 274 g0} M H|o| M LR 250 250
851 Mo|F 4 3l0|ERR MFEo|HLHZ 250 250
852 Holg QuE2 = atxH|2| S| 2| a2 EA 25 12.5
853 L=k Z2x 2242 azsA 25 12,5
854 =R QEIZX DX AEZH|2| EESY 25 12.5
855 Mo|F ZHC| Arabe LE 16 8
856 L= E el 2= RE 16 8
857 L [= A 22X U EEE=2Y 50 10
858 Hr|F oA eax|d azEA 150 10
859 Mg gliA 22Xt AZE 38 EQA L EERSY 50 10
860 L [= gloiA Q2|X|g AZE 38 E@A azEA 115 10
861 L= E oA 22X 7k2tE 3 a2 EA 125 10
862 He|f |aL| S Otx| 2t 130 16
863 Me|F 7| st L] (Aftoh) ZEWEY 72 30
864 L= R E ZHC] (MR5Y ZEYWSY 72 30
865 LI f71s st= M| (Hz21%H SEUEY 72 30
866 Mo|F | (s E25H SEUWEY 72 30
867 MC|f |71 st= 7WL| (FLZY SEWSY 72 30

314 0| X|




s A= Boje/HEe L T
(g,ml) (g,ml)
868 LS LIO|E|E HE{AF}X|EF FHL| oA SAH 180 8
869 =L QLIOJEIE Hajgt AL WAEY 180 8
870 el quzm WAEY 28 10
871 L ETESY R a2 10
872 el quzm WAEY 70 10
873 =E ey=g oA 128 10
874 |8 oltEmEY HONE 340 12
875 g olntEXIYE & HerEC] HMAolokE 800 10
876 ol olntE st BONE 340 12
877 el olariC] NS 400 12
878 g oI5 0l A OFCHEL A TR HYSE 8 a
879 =L RO EXAC| SotIat 850 1
880 |8 xol2-H %% Fuix| ol gt 231 88
881 o8 e HONE 700 12
882 |8 MFEZEUC| Sotizt 420 10
883 =L PEST SobIat 130 10
884 el HF S A Sobiat 150 10
885 ZiC| & Mzo|l 2|l o|3z|of 37 37
886 =L wz0gaE2 FECT] 37 37
887 g Wz0gaEs3 FEET Y 37 37
888 L] =201 glaz|of 23 23
889 Mo & HZ0f2 o3 z|of 23 23
890 ZiC| & Hz|700 o|3z|o} 23 23
891 L= Ha|de| 107tx| =&t O AEA 50 10
892 oL Walwa| 2071%] B89 AAEY 150 15
893 g walwal B2 e 28 14
894 Mo & Ho|Ha) HARZ oASA 1000 10
895 el Wajwa) ye WAEY 1000 10
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HE =Y 5% 13|73
(g,ml) (g,ml)
896 Ma|wa| HpLpL 1000 10
897 Mo|F Ha|de| HETE 1000 10
898 =R Helge welgs 1000 10
899 M|z Ma|wa 250t 1000 10
900 LL=E ey 2242 1000 10
901 L [= Ma|wal Abat 1000 10
902 ML|f Ha|de| Ao 50 10
903 Mg Ma|a| A0 212 10
904 LIS Ma|ea) SApE 1000 10
905 ML|E HMa|a| 4t 1000 10
906 ML) 5 HMa|a) A|EHALA 212 10
907 o7 Ma|da| Aoty =skot 150 15
908 MHL|E Ma|wa) Qx| 1000 10
909 HolF Ha|de| QAUX|AHE 1000 10
910 L8 Ma|wa) Walul 107px|%t 125 125
911 ML) Aa|el 107HX| 9 ALR0{8] A 1000 10
912 L= E Halde| el 207tx] =&t 284 100 10
913 L [= Ma|wa) Wa|ul 2074k =ga O AEA 250 125
914 =E Ha|wa) Wa|w 407hX| 3 L ESY 500 10
915 Me|f He|de| Yalg 2% 1000 10
916 Mo|F Ha|de| alyl go|go|Hal 1000 10
917 ML|f Ma|da| Yalg gyt 1000 10
918 WolF FEEE R E LR RES MERY 1000 10
919 Me|F Ha|da| Falgl Yo Eot 1000 10
920 o7 We|de| Yaltl yE2EgS 1000 10
921 M7 He|da| Yalgl g 2ayst 1000 10
922 Mo|F He|de| ey gt 1000 10
923 WolF Ha|de| Ya|gl Ahg|st Ab 1000 10
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s AEY LY BT ) Sl
(g,ml) (g,ml)
952 FMHC| 2to| 2| at 8 8
953 o7 BME ® SEME 20 20
954 Moz FEO CHAFQIE| LA 900 18
955 L ExL E3lCaF 20 20
956 LL=E FEIE(ALRLSY 2o 2 x| at 10 10
957 L=k FIE(OLO]2) (F)2to] 2|1t 7 7
958 o7 FE(EEDY 2o 2 x| at 10 10
959 L= E FEREED 2o 2| at 10 10
960 L A 7HC) azEA 100 10
961 HolF o SotH| It 100 12
962 FLI S Htgl ZopH|at 120 12
963 = Aot SopH|at 390 12
964 Mg LSl ZopH|a} 1000 12
965 Mo|F HEHH ®xE012 75 5
966 Moz EHeaterd X012 100 10
967 Mo|F Ap0|7|E|] 2ORHC xes 9.8 7
968 o7 XF0|7|E| HIEFM +(E7]5H) st s 143 9.9
969 Mo 7 X0|7|E| HIEFW +(E7|5H) @stgEEe 2 110 9.9
970 LR 0| 7| E| H|EFM] + (L D+ 2 X|TH o= A 14.3 9.9
971 Moz KEO|Z|E] HIEFM + (T + 2|2 EstETE 2 110 9.9
972 o7 X0|7|E| HIERMW +(L 1+ 2IX|5H) @stEEEe 2 550 9.9
973 LIS Xf0|7|E| HIEFMW +(5 S0 @staLEe 2 14.3 9.9
974 Moz KEO|Z|E| BIEFM + (XM +5 S0t @t E 2 110 9.9
975 o7 XpO|7|E| HIERM +(Z b2 @stIdTE 2 550 9.9
976 WolF XpO|7|E] HIEFM + (2L @stgEEe A 1100 9.9
977 M7 ey HRAME 400 40
978 Mg HECHa| 2to| 2 X 15 15
979 Mg HEEHC| EXc) 127 8.5
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s AEY LY BT ) Sl
(g,ml) (g,ml)
980 HEEIC| 2|H| 2 425 8.5
981 LI X0|AU SEHHC %:jlf:';ﬁ/ 1000 11
982 Me|f X£370|(E7]) Hstamold 43 22
983 Mo|F X3 70|(HpLtL) Hstamold 43 22
984 Me|{ FYMCIET| HRAME 450 12
985 1=k FOE2 102 E0| BsH 2,200 11
986 ML|f FoE2 21Ty s 11 11
987 FCLE ROSA WaC|FA s 720 15
988 |2 #FOHEA O|L| 1009 s 600 12
989 FLE #IHEA O[] 509 Fsa 300 12
990 Hol7 FOHEA O|L SAHY ®sd 30 12
991 ol F FOEA OILIRE (] 550 11
992 ol F FObE2 OJLE BsH 220 11
993 (= FoEs S2E Fsd 1,320 11
994 M|z AOEA AANAY E|Q s 1,740 29
995 (LR FoE2 22X|Y s 11 11
996 MC|2 #OEA 3a|0] 1070Y s 110 11
997 |2 #IOEA TOLEE s 1,650 11
998 FLIE ZOEA Z2X 10Y @®sA 110 11
999 Mg Ao QHE TEX 28 Hazsa 140 10
1000 HL|F i 27E $25 88 2% Hazsa 75 10
1001 L8 Zur 9HE $2% 22 @0 L EELSY 140 10
1002 WolF FHHIC] ] 22 M AEHY 0| M 200 11
1003 L=k FHRIC|H RIE Hspamy o] M 200 11
1004 WolF FHRIC|H A2 MSpAEHY 0| M 200 11
1005 M|z FHRIC|4] H o HM3lAAm o] M 200 11
1006 Mo|F FHRIC| 47| (TH) (FHstameold 966 12
1007 MC|f FHRIC| M| () (F)Hstameold 300 12
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3%

13|H 3

ae Jos (g,ml) (g,ml)
1008 FRHIC| 4| Sty DpYL L] 300 12
1009 M|z FHRIC| 4| 5tH| 2tU BHHL 966 12
1010 Me|f FHRIC| | st e |2t 150 11
1011 Mo|F FHRIC| 4| st e 2 20 200 11
1012 Me|{ FHRIC| 4| stH| e R E S 200 11
1013 HC|F FHRIC| | 5tH| T C| B E{ 200 11
1014 ML|f FHRIC| 4 st e A 2| o 200 11
1015 Me|f FHRIC| | st e A o] 2 200 11
1016 Mol F | AlQlA AW H2|ok 28 14
1017 Me|{ M| Hlela AWI Y HHIUESE 28 14
1018 HC|f M| Hlola AWI HHIUESE 170 17
1019 HolF HCISE(EH) 150 10
1020 MLl F MC|HAA AT 3 HmRES 2300 14
1021 M|z Ha| | 110 10
1022 =R Fu|ZHC|(FHZHC|EE) 150 10
1023 ol F AlRIE|+ZHE] Y25 (FHstam o4 200 11
1024 LIS AlRIC|$|HE] IESHEH) (F)Hstamzold 200 11
1025 HC|F AIRIC|H|THE] HE{SHZH) (F)Hstameold 200 11
1026 M|z AlRIC|$|ZHE] H 2| SHEH) (FHstameold 200 11
1027 Me|f AlRIC|$|ZHE] Hm SHEH) (F)Hstameold 200 11
1028 Mo A Z0pHC| ES =] 15 15
1029 ML|f Eatotw| 2| ® EME 20 20
1030 ML) 5 gate 6 6
1031 L [= = sarEat 15 15
1032 MHL|E EEE-L 150 50
1033 M|z a3|o0|x|oH 0| = 400 12
1034 MLl F EEE= (1] 50 13
1035 Mg EEL=S{1a] 130 13
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ws NEER HEY BoR/Hze ss2 e
(g:ml) (g:ml)

1036 M| H £t (] SOfH| 1t 370 13
1037 HC| &/ 3z|0j 20| H ot 100 8
1038 wcis azole sHet L 100 8
1039 L] az07c]  LEETS 80 8
1040 S SaAEiL HoME 400 10
1041 AL ZlAHo| 2] 3} 30t 400 12
1042 )= AABH SopH|a} 400 12
1043 wrig HIYUZHL HIETRIE7I PHYFEBETISE) 144 72
1044 L] E0pAQ} FITE H|EFC ops A C|Z 1430,715,22.8 10
1045 arig E0pA0 H7E Y ot Anciz 12 12
1046 L] Sotact 878 F|zUIEHEIID) ot Aciz 156 12
1047 acig E0paot 178 7|zUEHESOLY ot 2nciz 156 12
1048 A= EAOL YA %isl-‘g:léi}?/ 550 10
1049 L] £ B2ARYAF) 1500 15
1050 wcig =82l 0] 2] LRt oAsY 100 10
1051 acig =82 Arpof 20| e 25y 25 15
1052 =S EEg 0 F2X0 ol ASA 100 10
1053 L] E82 ATHAEIL Aol oAsY 225 15
1054 MC|E EE3| A2 CAEA 225 15
1055 ey T2t 22 el @y 640 8
1056 AciR atetcto| ELLEN 130 13
1057 L] T2tciolA : LR 104 13
1058 L] TN FIEA HEFEE(ER wreras 21 7
1059 L] Y HIEA HlErR (S0l weras 24 8
1060 acig QM FFEA HIEFR(IZLEII) SUE 14 7
1061 L] I HIEA UlEY(ETUU) wreras 550 99
1062 acig Tl E RS cheee s 120 120
1063 wcig Tfelete otz 370 12
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s NESY HED Hojg/A = L T
(g,ml) (g,ml)
1064 ZiC| & ZE30 CIEEIQE 100 100
1065 ML= EAZAE H|EfC(EA01TH x| 3125 10
1066 g EAEAE HEIC(R50H) @rhxIoIE 1250 10
1067 )= =aj0|9 slo|= AT}l e 250 250
1068 welE 1 AobEAL] Sotiz 82 14
1069 =L} T AOLE ML Eopx|at 240 14
1070 g olz 2EoIMz Hazsy 125 2
1071 M| H oo 2 ojLslAa [ EEE=2 125 25
1072 g Tol= AL ojEEz| NEET Y 125 2
1073 FiC| &/ ooz gda jjazE4 125 25
1074 ZiC| & ijoz S [ EEE =2 125 25
1075 =L Sfola| Eatx|si Loy AL HouNE 102 12
1076 Mo|= s|EHL] Sopx T 40 10
1077 =Y s|aie| sopxm 120 10
1078 Mo|= S|EL] Sopx T 300 10
1079 8 W=lE| HEtIAS(E)) obAnciz 15 10
1080 =L W27|E| HIEFIAS(HILILY ol Anc|z 15 10
1081 g W27|El HEIAS (RS0 oflADICZ 15 10
1082 c|s #27|E| 7| =H|E} ope AL 1430 10
1083 s sHze HoME 450 12
1084 )= S8 =% G AEA 34 11
1085 iC| &/ S2A HEZEHA oASAH 34 11
1086 |8 S84 Hholet W 23X e 3 1
1087 elE S22 HolE W B8 qAEA 34 1
1088 iCc| & SEA YAEBIAES oA S A 34 11
1089 g s84 HUYE WAEY 34 1
1090 g s82 sHNHE WAEA 34 1
1001 e S84 olojagE WAEY 34 1
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1092 S22 Ha| HAE 34 11
1093 M|z E47tary S OHx| 2t 370 12
1094 HolF R SOHH| 2t 420 12
1095 MHC|8 s X7HY SopH|z} 430 12
1096 Mg saXMC|2 HoAMZE 750 12
1097 M| FEXTA HoAMZ 350 10
1098 MC|8 $=Eda QREE SLIOE|E 100 2.6
1099 Mg sE=E™R QR2E SLIOJE|E 358 9.6
1100 Mo EZEHa QP2 E SLIo|EIE 590 9.6
1101 Mg S=E™R gP2E SLIOE|E 890 9.6
1102 Mo 7 Sx|ofn 2 UF|HC] @zl 100 10
1103 HolF a1y Uty 85 10
1104 MHL|E ga1g L ES-2 Y 170 10
1105 M|z gla| [ ES-Y] 284 10
1106 Mg ZAtE K30} 420 10
1107 ML) AL Eopx| 3 130 16
1108 MC|{ A = Otxf| 2t 390 16
1109 L [= St Sopx| 750 16
1110 M|z SAte S Otxll 2t 850 16
1111 HI=E] St Mo 450 12
1112 Mo S| ERX Q7 azEM 150 50
1113 ML|f EOLE Q1QF74 10 - 170t EL i 275 55
1114 ML) 5 Fruits Shake Z+2 43 150 150
1115 LIRS Fruits Shake Az} 143 150 150
1116 iCc| & Fruit-tella buleberry @ QLIolE|IE 890 9.6
1117 ZiC| & Fruit-tella mango @ SLIo|E|E 890 9.6
1118 L= E Fruit-tella raspberry @ QLIOJE|E 890 9.6
1119 Mg NEW CRAZY BEAN M3 14 14
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1148 EMgE MEARE Q7|5 QUK Ln THMEE ZEwsy 311 311
1149 EHigE MEIRZX Q7|5 M2 BHgE Zousy 355 150
1150 EHMEE MEIAREX Q7|5 ZACEE EHMEE ZEYEY 355 150
1151 SR FHoZlEEUEY RHEYSE 185 185
1152 EMER #Ho[Z & F Atapot ROEYSE 185 185
1153 EMSE oAU %¢ RHEYS=R 185 185
1154 B3 HOIZ S-Sl E5¢ ROEMER 185 185
1155 EMER #HolZ SEntlof 3¢ ROEYSR 250 250
1156 B R #HUA JYo|ZEY astzeeR 350 350
1157 B E #UA YEEY asizales 350 350
1158 B2 R #UA T EE(ELIEY-] 350 350
1159 B2 R ATEY Y2 0|E Etablissements GEYER 330 330
1160 EHMSE AntEd o= sENe 2 250 250
1161 EMMEE AntE3 aIX[00|E Etablissements GEYER 330 330
1162 EHMSE 2028 HzZ|ool = SHEH S E® 250 250
1163 EMMER A0t 3 Y 2yol= Etablissements GEYER 330 330
1164 EHt2E AZELO|E asizales 250 250
1165 EHS R AZELO|E asiaates 300 300
1166 RN E=T-) AZEO|E asizatez 355 355
1167 EtSE Amalo|E asiaates 500 250
1168 e R MLE ERIAE Attt CEEE] 500 500
1169 EHtgE ML|El SatAE THOIOfZ 5t sElS = 500 500
1170 EHtSE ML|EI10 2BtAE THQIONZE CEEE 250 250
1171 ERN =T MLIEI10 SBIAE ZES L EEE 250 250
1172 EtSE MLIEI10 SBIAE QRIX|SF sEe R 250 250
1173 Bt E MI|AE do|= wal SENSE® 350 350
1174 EHtgE OtHpAL Istaatea 250 250
1175 EMtSE OFHFAb EE(ELIEY- 300 300
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1176 QfHEAL 500 250
1177 2| E H|EFRIAACE (FNY / (F)=H 240 240
1178 WE|HE Et2Ict (MY / (F)EE 240 240
1179 Q2N |2 (CAN) 350 150
1180 EHISE QM H|2 (PET) 500 150
1181 EHE R QW 2aIX|5t (CAN) 190 150
1182 EHAgE QM| XS (CAN) 250 150
1183 EHISE 22t ZE0F (CAN) 250 150
1184 EHAS R 22 AnEd 20| 250 150
1185 SN =Y ga AnZY EOlE 250 250
1186 ERS R x| o=t 250 250
1187 R x| 10|zt 355 355
1188 EMISE WA AEZH 2|9 355 355
1189 x| 3to|E Qo] =gt 355 355
1190 XY ME QE SlH[AHA 355 180
1191 IXoY 22X 355 180
1192 HeiAtolck 250 250
1193 ZHjAto|Ct 190 190
1194 g R M Ato|ct 340 340
1195 EHISE XA Ato|Ct 355 355
1196 Bl 2 A A ALO|CHE) 236 236
1197 EHASE A ALo|CHEH) 250 250
1198 EMMEE FiLiCt E2}0] SHE{ T 250 250
1199 EHME R FiLict E2to] SHE{H T 355 355
1200 EHISE HaEA () 230 230
1201 el 2 HIEHA (can) 250 250
1202 EHSE asreat 160 160
1203 EEET 185 185
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1204 asr=at EEE-EIEY-) 190 190
1205 EHS R 7S} IAFIEEIESE 245 245
1206 EHIZE asreat ajigaes 250 250
1207 SN EY aIjtsat ajisaes 300 300
1208 EHISE asrEat EEEIEY) 350 350
1209 B2 E ajteat ajIgaes 355 355
1210 EHMS R 7S} IAFIEEESE 500 250
1211 EHISE EEEEIRELY asigares 250 250
1212 ST Ast=a} Hl2|gt assaes 355 150
1213 EHMSE [At2a} H2|gt EE =LY 500 150
1214 Az|o| Act CEEE] 250 250
1215 EHgE ZIAto|C} EE/E-FIE=Y-) 185 185
1216 EHISE ZIAtO|C} asigaes 200 200
1217 EMMEE ZIAto|c} ajtEaes 250 250
1218 EHISE ZIAO|C} ajigaes 350 350
1219 EHA2 R ZIAo|C} assaes 355 150
1220 EHISE ZIAO|C} EEJEIEY) 500 250
1221 s E ERI|FILIATISYNE Zgades 355 355
1222 EHAMSE ERm|FILIATDIE Y X| RHEESE 355 355
1223 EHtg g EZI|FILIADISYEE ROEYER 355 355
1224 Bl 2 HA|Za} Zhades 190 190
1225 EHgR HA B2t ROEMER 236 236
1226 EHIZE HA|2a} ZouAdgs 245 245
1227 EHAMSE HAIEEt RHHEEE 250 250
1228 EHISE HAl=at RoEdEes 355 355
1229 el 2 HA|2a} Zhades 500 250
1230 E2 =1 SHA A ROEMEER 250 250
1231 =2y~ 28t S22/ 250 250
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1233 EHASE StEL #l0]H EEEE & asisares 185 185
1234 =T SHEL Of S ajigaes 250 250
1235 EMESE SHEL Of BT ajisaes 355 355
1236 EHMSE SHE} Of S EEEIEY) 600 200
1237 B2 E $HE} QaIX| ajIgaes 185 185
1238 EHMSE $HE} aIX| /1Y) 355 150
1239 =t BHE} QK| asigares 600 150
1240 EMESE $HE} QT XpH[O|F} 13 OfE assaes 355 150
1241 EMER BE}L EE EUME 2K aAjlEete s 250 250
1242 SNEY- SHE} Y E EFUWME 2| asgares 600 150
1243 EHMZ R SHEL Ttelof & AIIEESE 250 250
1244 EHtSE $HE} IO S aFIEEEE 355 150
1245 EHISR SHE} THQIONE SR =EIE=Y-) 600 150
1246 =T SEl ZE ajigaes 250 250
1247 EhMgE SIEt BE asigales 355 150
1248 EHMSE SHEL ZE AjFIEEEE 600 150
1249 s E DK asigares 250 250
1250 EHMSE DK R[N 300 300
1251 EHMSE DK asigaes 345 345
1252 ST DK asisaes 355 355
1253 EHMSE DK EE/E-IEY-) 500 250
1254 o x} 20ro|g 22|% R 0| AE{ T X} 737 184
1255 | Xt Z2 A 0|2E K} (M, M) 0| T X 513.0 1283
1256 frips} Z2| AE|0| 2| X} (2E] XL, L) Z0| eI X} 1,327 165.9
1257 fripy 22| AE|0| 2T/ X} (2E|X|'E, M) 0| T X} 713 1783
1258 fripy 2R} DX WEMK| £ iyl 597 149.0
1259 fripy X} T XF WX ES iyl 609 152.0
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1260 izt ABBEALA) BE L ol At 1325 166
1261 o AAEE(AALAA) 2E R O] AE{T| Xt 848 106
1262 it AHSBEALA) 22T R ol At 730 182
1263 & 230 D%} XA 785 196.0
1264 o| Xt I30f DX USMX|EL o Xp 649 162.0
1265 I X} k=N ¥ripNy iy 3=4 787 196.6
1266 o| Xt 2&2HX]|3) | Xjof| 2+ 959.3 119.9
1267 I X} 2&eh(m Er2x2h) I| X}of| <+ 530.0 1325
1268 & 2 Amto|x 71T X} mxiopE 1010.0 126.2
1269 o| Xt SERE(XF) I| Xfof| 2+ 1355.3 169.4
1270 o X} SERH(TEH | X}of| 974.0 121.8
1271 ot Zcmeo| =X Pt 980.0 1225
1272 ;| Xp SEAQELXL (M, L) = 0| o X} 994 124.3
1273 % ZEASIETR (W, M) S0|=Tx 587 146.8
1274 ;| X} ZEAQEILX} (2E]X|E, L) =0| e m x} 1,344 168.0
1275 ot ZEASELX (22[X|Y, M) £0)e Tt 794 1985
1276 I| Xt JEEZHO|ET|X} (W, M) = 0| o X} 525.0 1313
1277 I X} O USELX| T X} HEMX| =2 o Xpd 553.0 138.0
1278 ot O BELX| DX WX ES Fpytiin] 564.0 141.0
1279 I X} N2 Y| T X}p q|XtAZ 740.0 184.0
1280 % =2l ot xtA2 760.0 190.0
1281 o| Xt FEAHA 227 R O| AE{ I| X} 652 163
1282 ol X} S8AHM A= R O] AE{ | X} 748 187
1283 Xt s b R} mxopE 740.0 185.0
1284 | X} EZd] 22[X R O] AE{m| X} 773 193
1285 ol X} o AHA tdyz M o Xt 454.0 151.0
1286 o| Xt o AH4 Hioja2tA H[Z M o XHs 507.0 169.0
1287 I X} O AGQE A XZ M o X+ 527.0 176.0
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1288 Il X} o AHME 3= X|ZI M o X 544.0 181.0
1289 5 O AHA I [T M (s xtH 507 169
1290 I| X} O S HH| 7 I XH(L) Q7 I|x} 800.0 200.0
1291 mxt {2 Hp )| 3 5] KHR] o3mxt 480.0 160.0
1292 I| X} L 0| X|H}O| E m| X} XA 2 755.0 188.0
1293 I X} S O|X| &Y m X} (WM, L) 0| a| X} 1112.0 139.0
1294 X SO|X|ZH T X} (M, M) E0)x Dt 624.0 156.0
1295 Il X} EZO|X| €Yo X}t (22X, L) E 0| a| X} 1471.0 183.9
1296 & LA %= DX YEMX|ES XD 454 170.0
1297 I| X} ClHA X|= m|X} MX| =2 by lind 463 174.0
1298 ;| X} mWZid| @2|FI R 0| AE{ | X} 700 175
1299 o ZAE} 9a[F R 0] A E{ ] X} 704 176
1300 I| X} 2|X|Z2EIl ALO|A|X|ZI OIYE F (g)et=n|xts 1618.0 162.0
1301 mx o A|ZHE}O| E T X} XA 785.0 196.0
1302 o| X} HA|ZHEE| 22| R 0| AE{ | X} 703 176
1303 mxt OjAEZXIEE 22| R 0] AE{T] X} 722 181
1304 I| X} HigHM HiQ|H = Q Q| AINX| = 1| X} 923.0 115.4
1305 I X} Hjo|H A 2D| (3| Z22{2x2ZhH I| Xjof| it 556 139.0
1306 & Bj0| 71 AF2}0] (K| 2) ROy 875.3 200.2
1307 Il X} o] Ara}o| (T EP) I| Xpof| i 726.0 90.8
1308 %t ol 7t aratol (@ ef2x 2 TR0l 7260 1815
1309 I| X} Ho|He= (AT I| Xpof| 1131.0 141.4
1310 I| X} Ho|H$=2(X|3) I| Xjof| it 1511.3 188.9
1311 % B| 0] 4 T 2 () ROy 1362.0 1703
1312 I| X} H|o|H 4= 2l (T E}) I| X}of| &2+ 1071.0 1339
1313 o] X} H| O A K| CX| =m| X} (M, L) 0| a| X} 702.0 175.5
1314 I| X} H|O| AX|CIX| =1 X} (M, M) 0| La| X} 462.0 115.5
1315 I| X} H|O| AX|CHX| = 4| X} (22|X]|E, M) 0| a| X} 566.0 141.5
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1316 il X} H|X|Ef| 2|2t X| =74 R O] AE{ | X} 719 180
1317 ot 2 20H|T| X} mxpope 758.0 189.4
1318 o[ X} £ ZHH| o XH(L) QI X}t 750.0 187.5
1319 I| Xt £ ZH| o) XHR] Q1| X}t 440.0 146.7
1320 o| Xt E17| g|x}t XA Z 715 178.0
1321 I X} E17|(X3) I| X}of| 2t 1070.0 133.8
1322 Hxt 207|(@EREZ) Hxpoj 570 143
1323 o X} S|4 X}t hripyi[3=4 718 179
1324 | Xt E07|5X}F (M, L) Z 0| | X} 736 184
1325 | Xt S07(Z X} (A, M) = 0] | X}p 389 146
1326 | X} E107|T X} (E[X]'E, M) =0| L x} 598 150
1327 o| X} E3107|0xt 22|F R O| AE{n| X} 655 164
1328 o| Xt E07|0 X x| =74 R O| AE{I| X} 751 188
1329 5% £07]5)RHL) o7mx} 750 188
1330 o X} S 17|14 XHR] QI X}t 440 147
1331 o LAHAZ@ 2252 I xpojj 568 142
1332 izt S ES LI T xtolz 1006 126
1333 o X} I 2(X3) I| X}of 2t 1208 151
1334 ot LHAZY(TEREZ I xpojj g 786 197
1335 izt HERATIR (M, M) 0jwaixt 560 140
1336 %t HZ=ADR (22X, L) E0l=m Xt 1276 160
1337 %t HERATR (221R1E, M) Eolz iz 766 192
1338 | X} HE= fEL O] AE{ | X} 1,306 131
1339 mx #2= L2 R 0| AE{T| X} 884 111
1340 | X} U= 22| L O| AE{I| X} 1,097 110
1341 o X} 8= 2a|FI R O] AE{ | X} 748 187
1342 I| X} #|ZZZE Premium gold pizza_L O] AE{I@| X} 1270 127
1343 | X} # 2= FE _Premium gold pizza_R O] AE{ | X} 866 108
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1344 o &t £HC|HALX (W, M) 0| T Xt 459 115
1345 P #AHC|H AL X} (a]X]Y, L) 0|5 X} 1185 148
1346 | xt FEHC| YA X} (a]X]E, M) Z0| |kt 665 166
1347 | X} FEHFZ Ot (W, M) 0| 5| X} 506 127
1348 fripy AHAZYDRL (2K, L) 0| T Xt 1259 157
1349 | X} wHFZ IR (21X, M) 0| g X} 706 177
1350 by AQAZET|X} (S, L) 0| T Xt 1149 144
1351 oz} 2 AZ ROt (HE, M) Z0|eax} 619 155
1352 | X} AQAZRIXL (W, M) =0| T X} 480 120
1353 o/ x} AQAZEL|X} (a]XY, L) 0| eI X} 1137 142
1354 fripo) AQAZELR} (22X, M) 0| T Xt 676 169
1355 | X} AQIEZ (M) | Xpof| i 1033 129
1356 X} A EZHO|E@IZR222) | xpof| 464 154.7
1357 fripy AQEZH|O|E(X]2) | xpof| 1100 1375
1358 | X} AQ|EZH|0| E(T|EfR2ZE ZH) | xpof| 676 169
1359 fipy ASILIOFA I (X] 3) | xpof| 14423 180.3
1360 X} ASILOFA | (3H) | xpof| i 1293 161.6
1361 fripy ASILIOFA I (T EH | xpof| 929 116.1
1362 fripy AE|0] M ST KHL) 23 m Xt 815 203.8
1363 X} EN: EREG oA 700 175
1364 fripy AT|LIX| 330K D) | Xoi| g 1217.3 152.2
1365 X} AL|LEX| @ 3 30K ED | xpoj| 868 108.5
1366 fripy M 3817}E_Premium gold pizza_L 0| AE{m| X} 1326 1326
1367 X} MZEOHA TR | Xpof| i 976 122
1368 X} M ZEEEOH(X|T) | xpof| i 1193.3 149.2
1369 fripy e of(m| EF | xpof| 942 117.8
1370 X} M o EHHF L (R)st=mxta 913 183
1371 fripy M Cj2HHH|F R (9)sH2m| A 496 165
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1374 iy W Hlo]H ZH|O|E L (s o Xt 997 199
1375 ;| X} M H|o|H ZE|O|E R (f)EF XA 522 174
1376 iy WAH AT L (8)8H2 | xp& 868 174
1377 i W AH $IZZR ()= I Xt 446 149
1378 iy A OFRY L ()82 m| xte 740 148
1379 iy A OFrfl R ()82 xpa 385 128
1380 | Xt MR EDI|L (I RR 877 175
1381 iy W x3L 207 R (8)8H=2m| xp& 476 159
1382 iy EEAN (eI Xt 685 137
1383 i M x| = R ()82 I xpe 357 119
1384 iy W HEHEL L ()82 o}y 654 131
1385 |t W EHEHELY R (R)er= oA 338 113
1386 iy M 3190 QF L ()82 o xpa 730 146
1387 ;| X} 2 8teto| 9t R (R)EF XA 382 127
1388 iy O}0| C} & H|Ef| O] E (T EF2 = 2 | Xpoj| 775 193.8
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1400 il X} SatA QI X} (M, M) =0| L m x} 622 155.5
1401 o| Xt O|Et2|ot AA|X| I|X} HEMX| =L o X 557 139
1402 o[ X} O|ErE|QF AA|X| T X} MX| =2 o Xpd 568 142
1403 o x 0| Eta| kx| =T X} T xtope 650 162.4
1404 o| Xt HEAH @O x}p I|xtops 1319 164.8
1405 I X} FIMA| & 3] XHL) QI X}t 825 206.3
1406 X x|= Tt Az 585 146
1407 % X ZEA (W, L) e 538.0 1345
1408 & X|=T A (M, M) E0lem 285.0 106.9
1409 % XA AHAIU2EZ T xpof 643.0 160.8
1410 Xt P ET R CED mxpojat 549 1187
1411 ot x| =T XH@2E 2 o xpoj 713 1783
1412 % X = T X EFR2 X 2 T xpoj 400 100.0
1413 % X =E|RHL) o7mx} 625 156.3
1414 % X =T XHR] oamxt 350 116.7
1415 mxt Ha|Ep (A U2EZ I xpojj 742 185.5
1416 % Aa|etA(x]3) | xpoj 771 1742
1417 I X} He|EtA (T E2E 2 I| X}of 2t 622 155.5
1418 w3zt FHlH0I TR SYRIES Txty 2 510 128
1419 I X} SH|4|o| M| X} iy 3=4 707 176.6
1420 % |0 MT| X} mxas 710 176
1421 o| Xt 37K SE RAEHZ L = a A 899 180
1422 ol X} 37K EE BAEHZE M ({)er=a o xHd 575 191.8
1423 ot Jex ZC Hm&4(am L (L))o a3y 936 187
1424 o| Xt /X SE HZKHEUZ M (f)gt=an|xtA 591 197.1
1425 ol X} /X ZE Ha| U= L ({)et=an| xt 975 195
1426 o| Xt JYX| ZE Ha| HUEM ({)st=a| Xt 607 202.3
1427 I X} Ag|An ZX} DXt YSMX 2 b 550 138
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s yERH Az Hoje/HEY ) Sl
(g,ml) (g,ml)
1428 frip s E}O| EF| T X} (M, L) Z0| =m0 X} 1052 1315
1429 iy EFO|EFZ| | K} (4, M) 0| T X} 548 137
1430 frip Efo| EF| T X} (22| X]'L, M) Zo|mx} 748 187
1431 fipy EZIXHM @I KH(L) Q3 m|x} 800 200
1432 o] Xt E XM 21 x}HR] 23 mxt 465 155
1433 fripy E M LI XHL) QI 785 196.3
1434 iy E M| 25| XHR] Qm|x} 445 1483
1435 iy E|ZEX|=AQExL|X} (L) Z0| g X} 1289 161.1
1436 iy ER|EX=AQEL|X} (M) E0| LT x} 716 179
1437 frip E3|ZX|XZ2H|TX} (L) 0| mx} 1362 170.3
1438 iy E2|ZX| =S H|T| X} (M) Zo|m X} 727 181.8
1439 | Xt oA Ea}o|(X]3) | xpoj| 1293.3 161.7
1440 iy DA EBIO[[AT ] | xpoj| 916 114.5
1441 fripy T}tOI0f ST XH(L) Q7 m|x} 690 173
1442 fripy T}QI0f Z ;| XHR] Qmxt 385 128.3
1443 | Xt M C{SHH|F R (R)EF XA 581 194
1444 | xt T HHH|IF X121 R ()= &3 593 198
1445 | Xt o aH FZL (Re=oxta 963 193
1446 iy ™ AH IR ()82 I xp& 531 177
1447 frips T Ofxf L (Q)sH2m At 848 170
1448 i o EsEaL (R)8H=2m xt3 969 194
1449 iy  x3t 207 R ()82 o xp& 561 187
1450 iy ™ X|=L (R)s+=o| Xt 797 159
1451 fripyy ™ X|=R ()82 I xte 442 147
1452 frips} EHEHEL L (Q)sr2m At 769 154
1453 fripy ™ HEH2L R (8= m| xtE 422 141
1454 fripy T 5}9L0|QF L (e m A3 837 167
1455 iy T 3}2to|QF R (9)sH2m| A 467 156
521H| O| X|




ws NEER HEY BoR/Hze ss2 e
(g,ml) (g,ml)
1456 X} D2l DX WEMXES T} 477 179
1457 | X} m|otz L o X}t | Xjop2 688 172
1458 | X} HEHZL(AIR) o] Xpoj| 990 123.8
1459 I| Xt Ho2H(x|3) | Xt & 841 192
1460 X} HHEZL| (T ERZE 2 o] Xpoj| 692 173
1461 Xt HE 2L T X (N, M) 0| T Xt 334 125.3
1462 X} HH 2L DX} (E|X]'E, M) S0 L E| Kt 539 134.8
1463 | X} & 2 LI XHY, L) 0| n| X} 599 149.8
1464 frip ) B H 2L 5 XHL) o mxt 590 147.5
1465 X} | H 2 L] 7| XHR] 23 mxXt 370 1233
1466 X} H|H 2L /Xt oxAS 565 140
1467 X} ZE|O|E BER 0| AE{m| X} 886 111
1468 X} ZEHO|EAHM(X ) | xpof| i 1322 165
1469 o x} ZEH|0| EAH M (T ED | xpoj| g 1002 125.3
1470 | X} ZE|| 0| ET| X} | xjop2 778 194.4
1471 fipy ZEH|O|ET X} 22|17 R o] AE{ T x} 768 192
1472 X} ZE|0| ET| XHL) 3 mxt 790 197.5
1473 X} =a3|0|Y x|7I6pH| 7 DX YEMX| S paTin] 515 129
1474 X} =2|0|9 x|ZIHpH|F X WK ES iy in] 525 131
1475 X} &210|9F T X} WEMX|ES iy Tin] 541 135
1476 fripy &toto| ok m Xt MX| £ bripetin ] 552 138
1477 X} &}2to|Qt=lato|E 22|l R 0| AE{m| X} 658 165
1478 fripy &910| Rt 0| E x| X74 R 0] AE{ 5| X} 754 188
1479 X} s}o}o| Qi m| &} mxjop2 705 176.2
1480 X} HL.50|(X]3) | xpof| 1365.3 170.7
1481 X} 922 0|(m ED rp 976 122
1482 X} 2.2 0| T XH(A T 2) | Xpof| i 1090 136.3
1483 X} #9225 0| T X}(H) rp 1216 152
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s yEoY HEE Hop/AEe i R
(g,ml) (g,ml)
1484 | &t X7 DX YEMR| =R oxtya 551 138
1485 fripy ahx| 715 X} | xjopg 733 183.2
1486 frip slo| ez (237 | xpof| 1093 136.6
1487 fipy Slo| EZE (X 3) | xpoj| 12423 155.3
1488 iy $}0| EZH2|(T Ef) | xpoj| 956 119.5
1489 S A 22| AE|| 0| A HAHY 295.0 295.0
1490 S A OYMAHA KFC 283.0 283.0
1491 S A CiEg2n7|HA Wege 236 236
1492 A o gt HAHZ 377.0 377.0
1493 A CIEX|=HA Yrgde 164 164
1494 e A ClEHE T2 E X =8 Wogde 278 278
1495 3t 7 EEEE EEL 132.0 132.0
1496 b A 2I0|AHA (21 7]) LR 225.3 225.3
1497 S A EAE ZEHA KFC 153 153
1498 A Heig Wrge 150 150
1499 e A H|0] EOLE C|ZAHAH WEge 242 242
1500 e A HO| S X|=H A HAHY 193 193
1501 S A 22| A EX R 191.8 191.8
1502 3 7 27| A KFC 162 162
1503 S A 207|HA EE 154 154
1504 S A Einb [N A2 278 278
1505 M A E 07|32 AL X ZIHAH HAHY 140 140
1506 S A S A 2g|alot 191.2 191.2
1507 EHHH 7 EILT LI 213 213
1508 A HEUZHAHA KFC 154 154
1509 S A FaHME EX R 187.8 187.8
1510 S A AIEZAXZHA HAHY 140 140
1511 S A ot HAHY 278 278
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ws NEER HEY BoR/Hze ss2 e
(g,ml) (g,ml)
1512 S A gjmotZe| Ak = EX R 234.9 234.9
1513 S A xto| o EC 21 A EEL 197.7 197.7
1514 S A X =7 2g|alot 142.7 142.7
1515 HHA K| = A LI 114 114
1516 M A X =HA HAHY 133 133
1517 S A x| =otH HAHY 303 303
1518 S A K| ZEHE A A KFC 2425 2425
1519 S A X7 207|HA KFC 169 169
1520 A X7 MAHHA KFC 188 188
1521 M A X 21 A EEL 140.44 140.44
1522 S A X 71 A WA 204 204
1523 S A HO|ZEMEQ[X| T}hEHo| A 205 205
1524 e A o2 x| =8 A Wegde 197 197
1525 M| 7 EFSJH{ 7{(TFA Free 814]) KFC 280 280
1526 S A B 1% 71 2g|alot 173 173
1527 S A EA2MEL K| T}hEHo| A 245 245
1528 M A EQIAE KFC 169 169
1529 S A steg | EX R 287.9 287.9
1530 B A SGEAETHIEQ|X| T}o| A 292 292
1531 P B|AIHA HAHY 179.0 179.0
1532 s3tes 2% 250t EXeEIPSE-Y-) 350 350
1533 =13 2% Atat ROEMER 350 350
1534 stgs U= opHo Lo By CEEE] 500 250
1535 228 2Rdgzo 2y EEER 180 180
1536 s3tgr 22 EEYES 180 180
1537 =38 234 RHEYS=E 175 175
1538 2gsR Et R I=1-) 180 180
1539 sgee Bz z=q 180 180
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s AEY LY BT ) Sl
(g,ml) (g,ml)
1540 BASA SHEHSUEINSS 2000 200
1541 =328 AL QXFC SHNE 280 280
1542 =gsE HFo L= ROEdEsE 180 180
1543 g8 HiFoizo| ROEMER 500 200
1544 2HsR sH8olols ¥=20f sH 180 180
1545 g2 Z20[7|2E Y E00|= 2O AR 1890 240
1546 =838 SHF|AE 2H| ZE QY o|ZZRE RO M 1890 240
1547 sgea HE|H|E} (CAN) S0t %7} 180 100
1548 g8 SoE25Hstord SEiS =2 180 180
1549 2gsR S0 E2Hetste SjEiS = 180 180
1550 sger o|Y oo = HWE X} aziEeteR 240 240
1551 sgtgg O/ oo|E HE X} IAFIEEESE 280 280
1552 sgea ojyojo|= Wil =2 A7tEeteR 350.0 350
1553 =28 | ojo| = Ho & ajtEaes 1,500 200
1554 sgee 0| % 0| E Ha| K| A7iEeteR 350.0 350
1555 g8 OjAgjo| £ Hi| K| IAtEetsR 1500 200
1556 =38 ojRoo|E Z2|0|Y Y=o Ea ajtEaes 180 180
1557 sgem 0| Ho|E Za|0|Y Y=o A ERE=EI=Y-) 350 350
1558 sgee gl Alof QK| ST o| - E Yz 240 240
1559 2SR HEST HEAME 180 180
1560 sgea =225t @é'::;'o:i/ 240 240
1561 oo e=1-3 eI ROEMER 190 190
1562 =g 22 sjeto| SHEHS E® 350 350
1563 sgter Hl2t A3 (FEE 350 350
1564 =328 2 B | 2 HRME 700 140
1565 ApZEALZEY Zhades 238 238
1566 Aol 2 o H|%| LEEER) 350 350
1567 HRool= @usto =0/ EHSMER 170 170
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ws NEER HEY BoR/Hze ss2 e
(g,ml) (g,ml)
1597 -1 THX|H AlE| ROEYER 238 238
1598 228 MLy ZEEot 3tROfR2E 180 180
1599 =3 A0 HOIAE 180 180
1600 s3tez ATLA () Sot%7} 120 120
1601 s3ter [AW S}0|E QREE seje= 240 240
1602 sger 2N CEEE] 238 238
1603 stgs QR AE HE| HAZ 190 190
1604 sgem o9 S AE| AEC| HAME 190 190
1605 E3 =T oS AE of|{x| HAE 190 190
1606 2SR QS AE A HAME 190 190
1607 sstem ZFLa|AQE (PET) Sote %7}t 340 340
1608 =3 ZE 72| A9 E(CAN) S0t X7} 340 340
1609 =3 siLE =2 (%8) SOt X7} 180 180
1610 ssem S| 2 (CAN) Sot%7} 200 150
1611 =¥sR entR9 ke L S 2 H|2| roiu ko) 240 240
1612 s3tea ent9(oL-L|7| ool Atn| 240 240
1613 ssem V12 z=g 340 340
1614 s3tes V24 mEsax a2y 340 340
1615 sgem Woognjin 254 M 180 180
1616 s3tga Woognjin 2E 4t 23AME 280 280
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